


план



12, 13, 11, 19,18

11. 12, 13, 18, 19 



Работа в парах

Повторяем таблицу сложения



17 18

8 9

9 8

7 10
9

9 9

8 10



8 + 7

9 + 7

8+ 8

18 – 9

17 -9

17 - 8



17- 8
17-7-1=9

17

8 9

17 – 9
17- 7 - 2 =8
18 – 9
18 – 8 – 1 =9



9  3 7  18

6 8  2              4

16                7                      7                  5

10



Решение:
1) 5 + 9 = 14 (к)было

2) 14 – 4 = 10(к) осталось
Ответ: 10 книг 



6 см

8см

6 + 8 =14 см

8 – 6 =2 см



-4 +7

-4

9

10

1 группа 
«Зеленых»



5

+6 -1

+5

15

2 группа 
«Синих»



+4 -3

+5

12

6

3 группа
« Красных»



9 15
12



оо

Встреча с бабушкой



Я узнал !
Я понял !
Я узнал




